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Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section — A : Macro Economics

Section — B : Indian Economic Development

(iit) This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

(iv)  This paper contains 4 Short Answer Questions Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This paper contains 4 Long Answer Type Questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, NOTE that a separate question has been provided
for Visually Impaired candidates in lieu of questions having visual
inputs, Map etc. Such questions are to be attempted by Visually
Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in
such questions has to be attempted.

SECTION - A
(Macro Economics)
“Mr. Sahotra borrowed funds from bank for purchasing a new house”. 1
From the above statement, identify the indicated function of money :
(A) Medium of exchange (B) Store of value
(C) Unit of account (D) Standard of deferred payments

If in an economy the initial deposits are T 4,000 crore and Reserve Ratio

(RR) 1s 10%. The value of total deposit created would be¥  crore.

(Fill up the blank with correct alternative.) 1
(A) 4,000 (B) 40,000
(C) 2,000 (D) 20,000

58/5/2/RR5SP/22 P.T.0.
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v foh, frrefetiigd & 9 fopd v o1 |mr=y et =i A siman @ 2 1

(A) 3 feeeht Teord SmTteh! gaTam® & HRRd Teh WA AT |

(B) = T WA gTeTe H G Ueh A AT |

(C) TR g et o ToTu TSt 7T Ueh WA TSI |

(D) —ITeh Teud Tk TR Ul H, Teh a9 § 371 37afY o fTT HRRd T WRa |

FrfIRad AT 1 STYEh 7L 1
HYF 1 : Tl Sd o TR (a3 3T % Tt Tl WS Bl # |

HYF 2 : Tl A fagTa & SER, AT 3cdTed YeATterd S5 AT (AD) % IS BT # |
feu TTu oAt % et 1, Ffaigd § 9 gE foashed w1 =99 hifse

(A) U 1 T2 INHAA 2 IR |

(B) ¥ 1 3HT 2 I HYT 2T 2 |
(C) HUT1IM2TNHAE |
(D) H¥F 1 3R 2 AT AT B |

Teh hicd (e STdeTawer 1, Jf Tqut faieh 3T 1 IqAHT foharm Sram &, a ot ores

1 I B | @& foper g fe@ A gfd i 1) 1
(A) 3HTE (1) (B) I (0)
(C) = (0) TTHE (1) H AA (D) 3T ()

& TS ATfcTeRT G, 31T o 36 WX 1 989 i, &l 3id s=d Jar (APS) I3 &t 1
(@& forehed ST =RA L 1)

AT X W) 0 | 50 | 100 | 200 | 300 | 400
I EHAE) | 50 | 75 | 100 | 150 | 200 | 250
Terehed

(A) 50 (B) 100

(C) 200 D) 0
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Identify, which of the following is not considered as ‘Normal Resident’ of India ?

(A) An Indian citizen working in U.S.A. embassy located at New Delhi.
(B) An Indian officials working in Indian embassy in China.
(C) An Indian diplomats visiting Canada for a summit.

(D) An Indian working in an American Company located in New York for
a period of more than 1 year.

Read the following statements carefully :

Statement 1 : Ex-post savings and Ex-post investments are equal at all
levels of income.

Statement 2 : Under the effective demand principle, the equilibrium
output is equal to ex-ante Aggregate Demand (AD).

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

In a hypothetical economy, if entire additional income is consumed, the
value of investment multiplier would be

(Fill up the blank with correct alternative.)
(A) One (1) (B) Zero (0)
(C) Between zero (0) and one (1) (D) Infinity ()

From the given table, identify that level of income, where Average
Propensity to Save (APS) becomes zero :

(Choose the correct alternative.)

Income (R crore) 0 50 | 100 | 200 | 300 | 400

Consumption R crore) | 50 | 75 | 100 | 150 | 200 | 250

Alternatives :
(A) 50 (B) 100
(C) 200 D) 0

58/5/2/RR5SP/22 P.T.0.
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UgEH W, & TS 3Th{d § BRIfhd & (AEFG) FI1 guIfdl & 7 1
Y-axis 4 F/Y
"
i > X-axis

0 3
I 399 > 39

II. s=9d="3(0)
III. 3997 < 3T
IV. &= <33 (0)

ﬁw:
(A Ia1I (B) Il
(C) IIaIV D) 1a1IV
gftanter whenfiEt = fore :
Hiwid s S (MPS) HITAH AT S |
(T forehcd T == R 1) 1
(A) SR e (B) T ®eid
(C) =Id %o (D) fem
AH Gqe S HIAOT  of-od o AUR WEQI R |
(Tt forere gru e o i gfed = 1) 1
(A) @™ (B) HHMISH
(C) =@ (D) et e
frfaRed o @ 37 92t SR ! Tg=™ i, 31 fohet ot sreierewen # focef ga1 it myfd
! T ST Hehd @ : 1

. Sl H Ush WA gRT 5hT STHIA
II. demed oaq 3T foeef wies
III. Microsoft gR1 US $ 500 fuferm &1 g
IV. 3T g SEor STH 9Tl YR B3

ICEI
A) I91 (B) IIaIV
(C) II=III D) IaIV
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Identify, what does the shaded area (AEFG), in the given figure indicate ? 1
Y-axis 4 F~ ¥

=

o

e _—C=t¢c+DbY

2, E G

£

5

wn

=

8

4 > X-axis
0 Income

I. Consumption > Income
II. Saving = Zero (0)
III. Consumption < Income
IV. Saving < Zero (0)
Alternatives :
(A) TandII (B) II andIII
(C) III and IV (D) TandIV

For Visually Impaired Candidates :
Marginal Propensity to Save (MPS) is the slope of

(Choose the correct alternative.) 1
(A) Consumption function (B) Cost function
(C) Saving function (D) Investment

The measurement of Balance of Payments deficit is based on

transactions. (Fill up the blank with correct alternative.) 1
(A) Autonomous (B) Accommodating
(C) Current account (D) Capital account

From the following, identify the correct reasons that may affect the supply

of foreign exchange in an economy : 1
I.  Purchase of land in England by an Indian

II. Foreign tourists visiting Taj Mahal

III. Donation of $ 500 million from Microsoft
IV. Indian students going to Australia for studies

Alternatives :
(A) TandlII (B) IIand IV
(C) II and III (D) TandIV
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10. fe fopeft srefegaeen ¥ SR Tge T 200 HAUS T I1eT SN T&T 7, qUT AT H1 Ged
2 900 Fire 2, 1 Frefta 1 e 2 e 2 |
(@& forene g T T &1 gfd & ) 1
(A) 200 (B) 1100
(C) 1700 (D) 900
11. (a) z;r%ﬁaﬁméaaﬂwmmmﬁmmggwqﬁ(NVAFc)ﬁw
% g. e TR (R AT #)
() | Tumht G aeqe (sEETiha 15

Sie heT-5 a9)

(ii) m‘iﬁ 200
(iii) | =l H Ui () 10
Gv) | fram 10
(V) | Tl IUART 3cITEh TEC, 120
(vi) | Tae srocae 20
@® ST
(b) ﬁw%@aah@gm,gamaaﬂ(mnwn@mﬁ: 3
FH . Hq TR RS )
(i) | TSR qed T YE TEE 341G (NNPyp) 1,400
(i) | focen @ 9TH 3¢ B A (- 20
g (iii) | STET AT W Hehed TEHA 3G (GNP) 1,300
(iv) | TR dSft =t 3awm 100
12 @aﬁwawésgudm HqeH H, WA o -¢d d TUTIISH o - 1 HITal TiTid
W | 3
@ 13. (a) () “ggrehifd sl w0 o 33T F, TR HIeT(-eh S <l HH Tehell B | 3
TR g 331U ST Fehd dTel, 9 YehT o hal o Tehie shi < i |
(i) ST §i o fagra 1 aRTiva @ | 1
FAYT
(b) () “TTrE FAREK TEa” % 37 HT Ieohg A | 1
(i) “ue srefereEen H, T AT (AD) I U (AS) & 3 R 17 3
3T, 3T o USHIR o T I 58k GHTIerd THTE shi Toed & THe |
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If in an economy the Balance of Trade is showing a deficit of ¥ 200 crore
and the value of import is ¥ 900 crore, then the value of exports would be

3 crore. (Fill up the blank with correct alternative.)
(A) 200 (B) 1100
(C) 700 (D) 900
(a) Calculate Net Value Added at Factor Cost (NVA.) from the following
data :
S. No. Particulars Amount (in T lakh)
(1) Fixed capital goods 15
(expected life span — 5 years)
(11) Domestic Sales 200
(111) Change in stock (-) 10
(iv) Exports 10
(V) Single use producer goods 120
(vi) Net indirect taxes 20
OR
(b) From the following data, estimate the value of Net Indirect Taxes
(NIT) :
S. No. Particulars Amount R in crore)
(1) Net National Product at 1,400
Market Price (NNPy;p)
(11) Net Factor Income from (-) 20
abroad
(111) Gross National Product at 1,300
Factor Cost (GNPp.)
(iv) Consumption of fixed capital 100
Define with suitable examples, autonomous transactions and

accommodating transactions in the Balance of Payments of an economy.

(a) (1) “With an objective to reduce inflation, government may reduce
public Expenditure.”
Discuss the rationale behind such a step which may be taken by
the Government.
(11) Define Effective Demand Principle.
OR
(b) (1) State the meaning of ‘unintended accumulation of inventories’.
(1) “In an economy, Aggregate Demand (AD) is more than
Aggregate Supply (AS).”
Elaborate the possible impacts of the same, on the level of
output, income and employment.
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14. TH SfSC fob ush eieaeen dqeH &R W g | ffeifad sifmel gra sreierawen # faw
= 61 AT L 4
1) TEE 3™ (Y) =T 10,000 S
(i) Ha s=a sgfd (MPS) = 0.2
(i) TR 399 () = T 100 S

15. “9RdiT fod o gRI Gol 99k TTeH 8 Jieease ¥ qg1 Sl i fafafa @ 9
T foet wehei 2 17
few e e ot siiferer frg = | 4
16. (a) (i) UTHR I T THAT I ST ST H HreraeT fawg i | 3
(i) “IeuTeT MeaTe AHT (PLIY & 3T YA ThR 3TRITa -3t Yo o
HH1, TrarTehi bl TTcHTEA, L e 3Tfe St forf¥= v IgM it @ 17
ST HUH b ATAlD H, ol 3299 o 3ok THTferd IO shl TgaH o
STEAT L | 3
YAl
(b) () “T[ TN, I I’ (Zero Defect, Zero Effect) AT o JHaHTd WRA
THR oY, B ud Hemd 3ushai (MSMEs) &1 80% b 3UeH &t & |7
IYTRR T H MU W GRS o 329 hl Ug=H hi 9 GHETU | 3
(i) TS T TR T § HIETa0r fosie ot | 3
17. (a) fem 11 3189, 2023 % The Economic Times % THRRITAR 3

“forar a¥ 2022-23 ¥ saiferees argAl i fersht 10 @ = IR
39 AHTI o1, Hohcl BT 3cUTG d ShedTuT T USH dTet FHTIad THTE oh forgeiyor i |
(b) ek fg-8mTeh 3TIeqae § 31 o <sh1g ToT8 T Eierd <= i | 3
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14. Suppose an economy is in equilibrium. From the following data, calculate
investment expenditure in economy : 4

(1) National Income (Y) =3 10,000 crore
(11) Marginal Propensity to Save (MPS) = 0.2

(111) Autonomous Consumption (¢) =3 100 crore

—
o

“Open Market Operation by the Reserve Bank of India (RBI) helps in
regulating money supply in the economy.”

Justify the given statement. 4

16. (a) (1) Distinguish between Revenue Receipts and Capital Receipts of
the government, with suitable example. 3

(11)) “Under the ‘Production Linked Incentive’ scheme, the
Government of India offers various benefits like reduced
import-export duties, incentives to investors, tax-rebates etc.”

In the light of above statement, identify and explain the Budget
objective and its likely consequences. 3

OR

(b) (1) “Under “Zero Defect Zero Effect’ (ZED) scheme, the government
of India provides up to 80% subsidy to Micro, Small and
Medium Enterprises (MSMEs).”

Identify and explain the objective of government budget,
highlighted in the above text. 3

(11) Distinguish between Tax Revenue and Non-tax Revenue, with
suitable examples. 3

—
=

(a) As per The Economic Times report, dated April 11, 2023

“Electric Vehicle sales cross 10 Lakh mark in financial year 2022-23.”
Analyse the likely impacts of this news on Gross Domestic Product

(GDP) and Welfare. 3
(b) Discuss briefly, the circular flow of income in a two sector economy
model. 3
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(TR SATRies ferenm)
THAAAT ITA VR SHATEAT o ARHT 3T b &9 H MYHBHRT o T91 &5 FD
THER Y | 1

I.  GTETheeh giEehior § HehRIcHeh TRET ol

I1. 3T %1 99H ot

I1. Senfies 3=1a

IV.  3Tfieh fawrer o g

Torehed

(A) I91I (B) II9III
(C) Il D) 191V

freferied fomt o1 s1eem i : 1

Sheeps and Pigs —Others
Goats

- & &
iz
J,

Cattle and—§
Buffalos

%}% -=E:_:_::: 7
fafaefiero nfafafr s ®ad < siaria itesfeud Tfeferler & wehri 6l wgem i |

Torepe
(A) TIETeH (B) He=MTeH
(C) S fom (smmEr) (D) ifersh i
givaTiRa TheiiE % fore :
Tl Teh UE OISt 7, S AT o i GARRIid i, S0 W@ J di
T U HEHh Bl ¢ | 1
(&) wg-wlE (B) TEmIf
(C) Sifereh (D) URAieh
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SECTION - B

(Indian Economic Development)

18. After independence, the rationale behind choosing Modernization as a
planning objectives for the Indian economy were . 1

I.  To bring positive changes in the social outlook
II. Equitable distribution of income
III. Technological Upgradation

IV. Increase in Economic Divide

Alternatives :
(A) TandII (B) II and III
(C) TandlIII (D) Tand IV

19. Study the following picture :

Sheeps and Pigs —Others
Goats

- "~ T,
1iizs

Cattle and E::‘oon
Buffalos

KKK
55 :00 % o
XY V
A
QRS T 5
y 0SSN
Nelele?
LA
“’.—-—- 1.7

=

Identify the kind of activities, which may be envisaged under as
diversification activity. 1

(Fill up the blank with correct alternative.)

Alternatives :
(A) Animal Husbandry (B) Fisheries
(C) Horticulture (D) Organic farming

For Visually Impaired Candidates :
farming is a system that is helpful in restoring, maintaining and

enhancing the ecological balance. 1
(Choose the correct alternative to fill in the blank.)

(A) Multi layered (B) Chemical

(C) Organic (D) Conventional

58/5/2/RR5SP/22 P.T.0.
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20. T=1 et i afeu : Afihed (A) T SR (R) | it fou foeredt & @il foehed g :
ANHAT (A) : ToIfesT A o GRF WRA Toh Tl 3ARNReh SMUR foshfad T8 &
T | 1
%Il (R) : HAUSH 3 TaeTerss SR i o1 T foma, fSag ardia geatsed

Seii %51 T et |

forepey -

(A) IfHLH (A) 3T ST (R) SHT T & 3T HROT (R), AR (A) 61 T&t =men
2l

(B) 3fheM (A) 3T RO (R) SFI OcF & ik SRUT (R), 30peH (A) &t @&t
ST g1 hidl & |

(C) 3RHeH (A) T 7, b 0T (R) 3T 2 |

(D) 3R (A) 3HH B, Wfehd SH0T (R) T 2 |

21. HF % IR H Hicm-1° § T T G Hiem-11 § U T qEHaR qei & 98 9 &1

I A ; 1
-1 Hied-11

(a) | GC=HTHS TiEadd () | Eftra wreden

(b) | T2 9 BiEE FANEH (ii) | = aegati i afvess aim & ot

(c) | SITehfcieh HETEHI o SANT W 3Ted S | (1) | SHEEA] T 37ed el

(d) | 2014 ¥, That T 3cUTE H FiT (iv) | 3tcurTitien 3Tenfirehiehor v wiferd
Ty

A) (2)—-@ B) () -@G)

(C) (o) — (1) D) (d) - v)

22. TrfcTREd Hemi i SIEHh T hi

HYT 1 : =7 7 Afaics amniores a s stawt 6t 3cafa & fore aerifees gfdagar
WY ToMT, ST e o ST ST TohaT o | 1

Y 2 : YA, UTThEdH o < <t Hifeh @Tem~ Gu=Taraii § a il FHMHEdT 8 Ui STh!
e et faesgpet =1 & |

(A) HYT 1 T2 M HAT 2 AR |

(B) U 1 FAAIE M FHAT 2T R |

(C) HFIT13M2TNHAE |

(D) %9 1 3 2 THI 3T 2 |
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20. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : India could not develop a sound Industrial-base during
the British rule.

Reason (R) : Britishers followed restrictive trade policies which
strengthened Indian handicraft industries.
Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

21. From the events given in Column-I and facts given in Column-II about
China, choose the correct pair :
Column -1 Column - 11
(a) | Structural transformation (1) | Limited Urbanisation

(b) | Great leap forward campaign | (i1) | Reduced global demand
for Chinese products

(c) | Less stress of usage on (111) | Low density of population
natural resources
(d) | Slowdown in GDP, since 2014 | (iv) | Aimed at massive

industrialisation
Alternatives :
A) (@)-0 B) (b) — ()
(C) (o) — () D) (d) - Qv)

)
N

Read the following statements carefully :

Statement 1 : China has used Market system mechanism without loosing
political commitment to create additional social and economic
opportunities.

Statement 2 : India, Pakistan and China have similar physical
endowments but totally different Political systems.

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

58/5/2/RR5SP/22 P.T.0.
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freferiea ST o1 SIYE® 315 W
FYT1: Aok fegrdl gfienl ol TR 3MYR 9 k™ 9 W@l Sdl g 997 3o
TTTiTeh gee oy oft freran 8 |

HYT2: U9 FA T TSR ITH TAT SUISTTR ST ATkl ohl AiEfetd fohal ST 2 |
feu TTu et o STt 4, ffaiRad & gEl fashed w1 =z hifse

(A) HYT 1T 2 I HAT 2 AR |

(B) UM 1 AT M HAT 2T R |

(C) H¥F 132 T g |

(D) YT 1 3N 2 T I E |

freft Ty o Gohdloh oh! ATHTRSTE & ToiIfaeh ol oF o sHatferdha wriier 6
T < A9 o &Y | g1 foham S Hehdat B |

(Tt fohed gra i T <t qfd i )
(A) 3TRieh (B) A
(C) SHHIETh (D) A
UTfeRedT § ST GURT 1 IRY U T g AT |

(@ forerea g T T s gfd =6t 1)
(A) 1978 (B) 1980
(C) 1988 (D) 1991
‘H&H R (Micro Finance) 3t JSHT bl T YO & q1eAy § faedmia
IERISIIR

(Tt fohed gra T T <l qfd i 1)
(A) T HERIA 98 (B) ofi foepra o
(C) & Trior S (D) =TS S
FcTREd ST T MY TR W :

Y 1 : STEI I v ehToT UfshaT o HEwaqul IR § 9 U 3§ |

HY 2 : TR <h HRUT, g WA HET A foesli § 3199 SR g hi 7 |
feu e el % 31t U, Freforfad § 8 ot faehed 1 9@ Hifse

(A) HYT 1 TT 2 IMNHAT 2 AR |

(B) $¥T 13T ZINFHYT2THR |

(C) #1332 T |

(D) H¥F 13N 2 A AT |
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23. Read the following statements carefully : 1
Statement 1 : Casual workers are hired on a permanent basis and also
get social security benefits.
Statement 2 : Workforce comprises, both employed and unemployed
person.
In the light of the given statements, choose the correct alternative from
the following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

24. indicator may be defined as the measure of the extent of demographic
participation in Social and Political decision making in a Country. 1
(Fill up the blank with correct alternative.)
(A) Economic (B) Health
(C) Demographic (D) Liberty
25. Introduction of Economic Reforms in Pakistan took place in year . 1
(Fill up the blank with correct alternative.)
(A) 1978 (B) 1980
(C) 1988 (D) 1991
26. The scheme of ‘Micro Finance’ is extended through credit
provision. 1
(Fill up the blank with correct alternative.)
(A) Self help groups (B) Land Development Banks
(C) Regional Rural Banks (D) Commercial Banks
27. Read the following statements carefully : 1

Statement 1 : Outsourcing is one of the important outcome of
globalization process.

Statement 2: Owing to globalization, many Indian companies have
expanded their operation abroad.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 1is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both statement 1 and 2 are true.

(D) Both statement 1 and 2 are false.

58/5/2/RR5SP/22 P.T.0.
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s Ty 35 TR, e e T R <Y ST o |

(a) WS T8 Go § IRa o foeft SR w ferfes wewrferepr femmr enfia «m o
garan fiett oft 1°
39 qept g Teu MU e =1 3ifaea fag =1 |

AT

(b) “farfest s & S W & T T IRdE EeEl o Ui e

TredTied fopam o |7
Iy qei g few U e ot sifae fag &t |

feu U FfeRel h HERAT ¥ 9Y HRUN gRI, =9 9 UTfREd™ shl SHEEan i a1fves et 9

feTIHTe AT et o fargeryor &6t |

SHfeReh! Hehdeh, 2017-18

ox @G | SFEEn R | SwEE R |y | el
SEe | 9 gfe e AU | K
(fferem W) fa =t fs.af.)
TRA 1352 1.03 455 924 | 2.2 34
it 1393 0.46 148 949 | 1.7 59
et 212 2.05 275 943 | 3.6 37
31. (a) USHIR 9 Hehol BT] 3CUTG o HHTCTRET 3T T HLRH i | 1990-2012 % A
3 & = o1 S o fergersn & |
TR Jhg SR Tkt TRe] 318 1951-2012 (%)
10
. AL
. VAT
7 6.1 6.1
5 8 . .
6 5.7
i_ 3.6 4.9 " /,4 8 \3 4/
? . \\ 2.8 o>
8 V/‘/199 1.89Y
9 . 1.84  1.73 W 2.28
1 0.39 2.03 0.98 m!l-12
0 T 0?5 T T T T T T T T 9"28
1951-56 1956-61 1961-66 1968-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012
- GDP = TSR

QO CEEICLCOEEEIECLEOCEEEECEUEEEICEEOOEEEIOECOECEICEOE0

iR alemeffa & fore
vl &1 1§ frafird Jaaviht st oo 85 & s R 8 7
(b) AT — TTHEAT ITHTA h AT Y, |
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Discuss the need for ‘On-the-job training’ for an employee. 3

(a)

(b)

“Opening up of Suez Canal helped in establishing the British
monopoly control over India’s foreign trade”. 3
Justify the given statement with valid arguments.

OR
“Development of Railways during British rule encouraged colonial
exploitation of the Indian resources.”
Justify the given statement with valid arguments. 3

From the given data, Compare and analyse the Annual Growth of
Population and Sex Ratio of China and Pakistan, with valid reasons : 4

Demographic Indicators, 2017-18

©QRLLEEICLEOEEEIOEEUOLEECIEEECOEEEICCEOEEEIOCLUOEOCECICCEO
o
—

©

Country| Estimated | Annual |Population| Sex |Fertility|Urbanisation
Population| Growth of | Density | Ratio| Rate
(in million) |Population (per
sq. km)
India 1352 1.03 455 924 2.2 34
China 1393 0.46 148 949 1.7 59
Pakistan 212 2.05 275 943 3.6 37
(a) Study the following chart of Employment and Gross Domestic

Product. Analyse the trend of the two variables between 1990-2012. 3

Growth of Employment and Gross Domestic
Product. 1951-2012 (%)
10
; A
8 / 78
7 5.8 6.1 6.1
6 5.7 .
5
4 3.6 4.9 oo /‘,4.8 \34/
I ‘\ 28 =0
3 V/‘/ 1 sgv
9 199 184 173 . M 2.28
0 I .I 1 I I | | I I | %8
1951-56 1956-61 1961-66 1968-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012
~-GDP - Employment

For Visually Impaired Candidates :
Explain why are regular salaried employees more in urban areas
than in rural areas. 3

(b) Define Worker — Population Ratio. 1

58/5/2/IRR5SP/22
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forepfia B STTaw & |7
T b g1 e T e o1 3ifae fag = |
(i) ‘T o’ 1 31 forg |
LG
(b) “HRA S Y H, USHTR Foi o foTT TRISTTR Teh HEwa Qo SR YeH il 8 |7
T Tehi o SR WX ST T YA T THH 316 T H |

. Traferiaa e 1 e ST

YRA 3 2030 T TY 1 ‘e Jaetal’ (Carbon Intensity) sl ST 45% & THH i
T & W@ 2 | 38 ITH A & foiw ‘gRa o’ (Green finance)@ﬂ%ﬁl@ﬂﬂ‘h_ﬂ
fvmar 2 | wifres =won # gfta o 1 SRR B 98 TicHTE i 3TTavEehdl B | WA TR
I T 25,000 HUS hH g I ggaH i 2, e 9y 8@ §ig (Sovereign
Green Bond) st 31 & for wifya fepam s |

for e @ ajlﬁﬁ?l U@ 5 AR 1313[‘{-1 gd &8 (Sovereign Green Bond)
TR Hell, FoTTg TiecH, W8 INaed, R S o SIS JoE aT Sy
Tz afeq e a3 o fomaeor X e shigd il |

B T 91" v ool SeEm i i @il @ o fie doar B | 98 3% fafi=
el AHCET 3R fafrRmi 1 aeM 1 TE 39 YR a9 JaH1 | 994 5 JeRid]
HHHAT & | Had foehd T3 <l UM aTel SHaETR 6 S8 I3 § gfg Bt & | UTeh
TH SIS ! T6E Hd & oI TIY Fad T8 G137 b1 U1 & | g fom g st e
FIA HR 3T Faq faepd TATE o I AT F=H, SFedEl 1 Ayl § ghg e
3HTe H TErRd1 hid! ¢ |

— The Economic Times, 318 22, 2023 (Fmfer)
faU TTQ TTer e T AW o YR T TR Je 1 oh IWE
(a) §aq Teh™ ! TRATNG Y |
(b) UH GrasTi-eh TS &1 T 3STET <, STal Wﬁ g &8 (Sovereign Green
Bond) fgd g ?

(c) & o @ =rau™ 8 TR Bl Jehd & 7
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(1) “Infrastructural development is an essential element to obtain

(U]

[\
~

V)
~

the full potential of the rural sector in India”.
Justify the given statement with valid arguments. 3

(11) State the meaning of ‘Human Development’.
OR

(b) “In a nation like India, self employment provides an important

avenue for employment generation.” 4
Defend or refute the given statement with valid arguments.

o
@

Read the following text carefully :
India has aimed to reduce the country’s carbon intensity by approximately

45% by 2030. To achieve this ‘Green finance’ plays a vital role. At the
initial stages, green finance needs a big push from the government. The
Indian government has identified projects worth ¥ 25,000 crore that will
be financed by proceeds from Sovereign Green Bonds.
According to the framework approved by finance ministry, the sovereign
green bonds will focus on financing public projects including renewable
energy, climate change, clean transportation, sustainable water and
waste management and pollution control.
Businesses that take green finance can get benefit in various ways. It can
help them follow different environmental norms and regulations and thus
avoid possible fines. Adopting sustainable developmental practices
enhances brand value of businesses. Customers tend to prefer brands that
adopt clear sustainable development practices. The energy-efficient and
other sustainable development practices promoted by green finance also
often help in saving cost, boosting profitability of businesses etc.

— The Economic Times, April 22, 2023 (Modified)
On the basis of given text and common understanding, answer the
following questions :
(a) Define sustainable development. 1
(b) State the public project areas, where Sovereign Green Bond are focussed. 2

(c) How can businesses get benefit from green finance ? 3

58/5/2/RR5SP/22 P.T.0.
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34. (a) T b gT FrrfARad U o gue 9 wed i ;

“TREUTETE T T - T ST b fohTE ! AicaTied fohaT AT, T0 &1 &
uh e ot Aferd g3 17
“1991 1 3 MY ifa 4 TieTaTen § AR R5d d 6t ek @i
fafad o feam o 1”7

YT
fafew wmem & of@ia IRde SreETfe e § STaeiichd qiEcHT i
ST L |
“WRA TR h! Facd Hfd = FrEI-eh ITHAT o YGIH Dl IR H FEw
EaR Al
FI1 319 feU 70 e © GgHd & ? TN dohl g 3194 3T okl 3T g
|
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34. (a) Defend or refute the following statements with valid arguments :
(1) “The policy of protectionism encouraged the growth of domestic

industries, but at the same time proved to be an impediment.” 3
(11) “New Economic Policy 1991 altered the role of Reserve Bank of
India (RBI) in the economy.” 3
OR
(b) (1) Explain the changes that were observed in India’s occupational
structure during the British rule. 3
(11) “Navratan Policy of the government has helped in improving
the performance of Public Sector Undertakings in India.”
Do you agree with the given statement ? Justify your answer

with valid arguments. 3
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